
5. Why is that? (PROBE ... ANSWER MUST BE AT LEAST TEN WORDS)

UNEMPLOYMENT.........................1 (13%)

CANADA WILL LOSE................. .. 0 ( 9%)

U .S. TAKEOVER............ .. . ... . ... . .......... . . . ...... 03 (9%)
CULTURAL IDENTITY .... ................................ 04 (2%)
ECONOMIC CHANGES IN CANADA ...................... ....... 05 (9%)
O PEN TRADE RELATIONS. . ................. ...... . . . ....... 06 (5%)
RESOURCE TAKEOVER. .... . .. .. .. . ... .. . ....... . .. . .. .. .. .. ..... .07 (2%)

DOAR CHA..E .. . ... .. . ... . ............. ................* * .... 08 3 %)

ENARKET. ...SIZE...... ............................... i (4 %)

DLLRY.........................................................1 (o 5%)

COMPETITION........................................ ......... 13 ( 2%)
CONSUMER PRICES .. .. . ................ ........ 14 (4%)
U .S. PRTCINS...................15 (1%)
B ENEFIT BOTH COUNTRIES. . ....... . . ....... 16 (3%)
AUTO PAT....... . .... . ...... 17 (1%)
DUTY/TAX............................................... 18( 2%)

FORESTRY..................... .... ..................... 19( 1%)

SOME GOOD SOME BAD............................ . .. ....... 20 (1Z)
POSITIVE FOR CANADA........... ........................... 21 (7%)
NOT ENOUGH INFORMATION. .. . *............. ............................ 22 ( 5%)
ANTI-AMERICAN.................. ...................... .21 (1%)
RUSHED FREE TRADE. . .. .. .. .. .. .................... ...... .22 (1%)
POLITICALLY HONEST/DI-SHONEST. . .. ........................ 23 (1%)

REFER TO APPENDIX C FOR COMPLETE VERBATIM RESPONSES


